110m 5B F 0B

Cl sn—7
HIBF —LE=D+ (D+@) x100
B -b | &Y -4 [ xEWE
& {3
52 48 44 BB I N & {3z
52 | H#H-EA HEEATC 4 - 4 — 28 1
. 15
48 | RH - SREETC 0 — 4 4 - - 2
44 £=H - A"HE TTC 1 — 4|2 - 28 3
C2 /n-7
MBS —LE=D+ (D+@) x100
B -h | &Y -4 [ XEE
\[& 43I
40 35 51 BB I I IE {3z
40 | A - BM A E{ERER 4 - 4 - 28 1
. 18
35 | R P KOTC 3 — 4 4 - 1B 2
51 | fHEEM - BA TWLK 1 - 4|1 — 28 3
C3 /-7
MBS —LE=D+ (D+@) x100
B -h | &Y -4 [ XEE
\[& {5I
36 37 54 BB I I IE {3z
36 | 7R - 1@ Team TST 4 — 4 - 28 1
37| WA-BRE | SALEF—X | 1 — 4 2 - 28 3
. 18
54 | 2% - 80 F—ARISE 0 — 4|4 — L8 2
C4 /=7
MBS —LE=D+ (D+@) x100
B -b | &Y -4 [ xEWE
& {32
42 45 49 BB I i IE {3z
42 | FE-HR | MUNFZRER 4 — 4 - 28 1
45 | VAR - 4 TTC 0 — 4 1 - 28 3
. 10
49 | Ll - #BA IVFLZR 1 — 4|4 — 1 2
Cs5 sn—7
MBS —LE=D+ (D+@) x100
B -h | &Y - | xERGE N
38 39 46 47 L I i I f
38 | ILME - FEUS MCC 4 - 2 -1 2 B 1
war . PAEFZRI57 _ _ 18 2
39 RS - (5 BHLE&ATC 4 2 18 EiERR
46 RE-EH |[vreEv7i—< - 4 - 4 288 4
| BE-BE SREETC 2 — 4 - 2 1 3
1% EfH®
CcC6 sn—7
MBS —LE=D+ (D+@) x100
BT -h | B L | xRS N
43 50 41 53 BB |y ol o | fos | B
43 | &F-%MA | MUNF=ZE 4 - 2 -1 28 8 3| 727 2
50 | JIIEH - BRIE JFE - 4 - 4 28 2 8| 20.0, 3
41 | EREE . i HPTC - 4 - 4 28 1 8| 11.1| 4
53 | EME-XR HIT&RUN 4 — 0 -0 28 8 0{100.0 1




110 3B F DB
M b—F4>F

52 | BE-ER HitaTC Clyn—71
- " 4-1
40 | #BAK-BM AFEERI | c2o/n—71f
" 4-1 .
36 | 7REY - fEith Team TST | C3¥u—71fn iE - HE
4-2 Ll
42 | HE-TRE MUNT=R&B | carn—71fx MUN7 =X &B
4-1
38 | LA - fEE MCC C5/N—71f
4-3
53 tH-XR HIT&RUN C6 /N—711i
40 | #HAK - M PR E{E2EER
3 34 8K - FEM | BRI
53 H-XR HIT&RUN
26 b —F A2}
48 | &H - ¥4 $REETC Clyn—7 21k
. . 4-3
35 | RHF - HH KOTC C2o/N—T 21k
. 4 -2 .
54 | % - 180 F—LRISE | C3/n—721ft .
4-0 Ll
49 | (L - $5K IvFLR Carn—721 KOTC
sw . PAEF=R957 ) n 4 -3
39 | FEH - kR BHATC C55N—7 21k
_ 4-2
3| &F-%2H MUNF=RE8 |C6sn—7 24k
b —F AL
44 | £H-RH TTC Clo/n—73f
= . " 4-0
46 RE R Yoty 77— C5/N—T4i
50 | JIIE - B JFE Cos1—73 4-0
; ) . 4-0 w
51 | fHEEM - B TWLK C2oN—73k =H - ’HE
4-1 Ll
37 | WwO-MRE | F4LET—X | C3rn—731 TTC
. . n 4-3
45 | AR - EEE TTC Carn—73Hk
" 4-3
41 | ERZE - 5 HPTC C65N— 7o
- n 4-2
47 | BE- =B $REETC C59 N — 73k




